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M.A. (Previous) Examination, 2016
POLITICAL SCIENCE
Paper-1V
(Administrative Principles and Theories)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20}
(@oe-A)
Answer all questions (50 words each).
All questions carry equal marks.

Tt wyq At B WS UIH @ I S0 V= I
arfias 9 BN @t wvE B o wuE &

PART-B [Marks : 50]
(@ve-9)
Answer five questions (250 words each). Select orne question
from each unit. All questions carry equal marks.

TIAF THE 4 UH-UH 94 g7 T, H afaw wvq wifsa
Tk WIT H1 IW 250 TR Q@ 3ferew T @l
it vl ® ofF wEw ¥
PART-C [Marks : 30]
(@ve-9q)
Answer any two questions (300 words each).
All questions carry equal marks.

FE I WY HRIFAT T&F 99T FT 39 300 I 9
3sfyss 9 8N |t v # o7k 9O ¥
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PART-A

(@Wuz-37)

1. Answer all questions.

IRt g ® I S

UNIT-I

FTe-T)

(1) What is the meaning of 'Public’' in Public
Administration ?

% wergs o ‘S’ W e wid 2
(ii) Define Ecology.
‘gitfeafasl’ =t aftafem i

UNIT-II
F=E-1D)

(iii) Define Informal organization.
‘sEgERE ®@NEA’ & afeafya @it
(iv) What do you mean by 'Organogram’?
‘AT | T W gEEs €2
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UNIT-III

(FFE-IID)

(v)  Define Lateral co-ordination.
‘gria e’ @ uitafye sife
(vi) Define Motivation.

‘Sfagion’ =1 ufefeg  Fifsw)

UNIT-1IV

@FHE-1V)
(vil) What do you understand by "Trained incapability' ?
‘gffer o’ @ oMY FN oWHER &2
(viii) Define Employees councils.

‘T dftex’ w1 gftafse wifsw

UNIT-V
(FHTE-V)
(ix) Define Budget.
‘go’ w1 uftaya wifsw
(x)  What is 'March-rush' in India?
9 ® uE-ande e R0
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PART-B
(@vs-a)

UNIT-1

FFE-1)
2.  Discuss the nature of Public Administration.
A% WA H WEfa w1 faeem #ifsw
OR (372@an)
3. Describe the main features of Private administration.

=it wergd &1 W favmaet w1 gl wifsw

UNIT-11

FFE-1D

4.  Write a note on 'Unity of command'.
‘IRY F THEA' W TH fooeh fafau
OR (3197a)
S. Define O & M. Enlist its techniques.
M wg W F e Ffsw 9® qEAE &
yforoAr F IS

UNIT-III

GFE-III)

6.  Evaluate the results of Hawthorne experiments.

T gar & uftomd # geeA st
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9.

10.

11.

OR (31yan)
Describe Two factor theory of Herzberg.

o &% foguew fagm=a =1 gl wifsu

UNIT-1V

GEFRE-1V)

Analyse the merits and demerits of Indirect recruitment.
AT Wdl % U uF IS & faveme s
OR (3yam)

Evaluate the provisions of National Training Policy, 1986.

T wfteor Hifd, 1986 & w@EYR F goAied Sife)

UNIT-V
(FHFE-V)

Discuss the process of budget formulation in India.
YRa H awe-f | gfwam = fagss $ifsm
OR (3yEn)

Describe basic characteristics of Performance budget.

frqrea w92 1 Hova favmast w1 guis Fifsm
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12.

13.

14.

PART-C
(@ug-|/)
UNIT-I
FHE-1)
"The difference between Public and Private administration
is narrowing." Evaluate.
“or wE Fft SRR w1 9] wE R W@ ' e
S|

UNIT-II

EE-II)

Describe Decision-making model of H. Simon.

TS A & TR wfam™ w1 guig wifsl

UNIT-III

EEFE-II0)

Analyze the characteristics and linkages of Line and

Staff agencies.
T W@ w=w Ffuwenl wt faewaet ww mmel @
favatoor =ifsw
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UNIT-1V

FEFE-1V)

15. "Weberian model of bureaucracy has become irrelevant
in present millennium."” Analyze.

“Fax w1 ArFETE g TdEE 9@ 9 ogate B
T ¥ favewe i)

UNIT-V

F=FE-V)

16. Evaluate the limitations of Judicial control over
Administrative institutions.

A st w =gfaw ffEao =7 @med @
e G 2 B 1 104
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